SLOPE Reference Sheet

NOME:

NEGATIVE SLOPE

POSITIVE SLOPE
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From a Table From a Graph

1. Findthe CONSYOUNE AOE)  of the x and

1. Solve the equation for

2. Slopeisthe RO
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next to the nable
3. The slope is the

of x!

y mx+b
3\n’rtuacep*
1. y=5x+4 m-‘--% b_-.q_
2, y=—3x—2 m = __?_ bI‘?_
3.y=§x—1 m:ji b—‘-‘\
4. 2(x+8)+y=4
2X Y\t
~\v -\Lp
2x+y=-12 m=->
i iy — LN
2% =1 <=1

Slope describes the

y values.
2. Write the slope as A%
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From an Equation From Two Points

1. Choose two m\h)ﬁ on the line.
2. Countthe }g'f, thenthe [ XA .
3. Write the slope as g \S€.
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of a line.

1. Labelthe % and U\
coordinates.

2. Findthe CNONAL of y and
the H{!!L!!%& of x by using the
Mm(mmm)
4. Write the slope as Choande \ny _‘i
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